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1010 HHESCE £ 12 6 0 8 7 7 88%
1011 HRS BT 0 0 4 0 4 5 2 50%
1020 SNEIRE SO 2 17 10 13 5 18 5 5 28%
1030 JEShES 2 21 7 6 2 8 11 6 75%
1040 T2 19 6 4 10 9 3 30%
1050 NIFEE 2 17 10 2 3 5 1 20%
1060 & & HE A 18 8 1 0 1 10 1 100%
1070 HAFE S A 12 5 6 0 6 11 1 17%
1090 BREI5E 2 6 3 3 2 5 7 2 40%
2010 EIE S 8 2 5 2 7 8 1 14%
2020 PEEEE 2 4 2 4 0 4 11 3 75%
2030 (=35 4 1 7 2 9 7 5 56%
2040 HEFHEE £ 26 8 1 1 2 9 1 50%
2070 DFREE 2 2 0 29 0 29 14 14 48%
2080  HiEEERESEEE 2 11 4 5 2 7 7 6 86%
2090 KA % 13 4 1 0 1 7 0%
3021 BUEEH BUEHHRAH 34 18 5 14 19 11 4 21%
3022 BUEBE A BIEEIH4E 17 9 22 13 35 11 11 31%
3023 AR NILATEEA 38 11 6 5 11 11 4 36%
3030 REFRER 21 12 5 89 29 118 24 24 20%
3050 HEE A 30 10 7 0 7 9 4 57%
3100 HE LIEE A 27 16 4 0 4 9 2 50%
4010 B A 1 1 5 0 5 2 0 0%
4020 FEEEL A 1 0 2 0 2 1 1 50%
4030 GEEE 2 0 0 18 0 18 8 8 44%
4040 | BB R AE VISR 2| 9 5 4 5 8 2 22%
4060 HETHIED 2 10 7 2 2 4 5 1 25%
4080 YR AR 2 1 1 6 0 9 3 50%
4090 TRAE BT 2 3 1 10 0 10 6 4 40%
5010 TARTEEZ 17 5 8 5 13 22 5 38%
5020 I AR % 31 14 4 0 4 20 2 50%
5040 LETRZ A 5 3 6 0 15 4 67%
5050 | TAERMER RO E TREE | 11 1 2 9 11 10 1 9%
5070  AFRIRFERELTRZER 21 2 0 1 0 1 1 100%
5080 BrEETfEEE 4 2 1 0 0 0 4 0 -




6010 =2 13 6 0 0 0 8 0 -
6020 | EVIERIE LM TR A 2 0 0 0 5 0 -
6030 A 4 3 2 1 3 10 2 67%
6050 FHMIBEEEERE A 24 13 2 2 4 17 3 5%
6060  BIYIRIEERITE £ 12 2 1 2 3 8 1 33%
6070 =SSy T 24 11 2 3 5 10 2 40%
6080 [EEE FH 2, 16 11 3 3 6 12 3 50%
6090 BRESES 2, 2 2 29 0 29 13 8 28%
6100 | VR EBE SRS A 1] 5 15 7 22 10 10 45%
6110 AEVIKETIZEA 15 7 1 1 2 9 2 100%
6120 Sl 5 2 0 0 0 8 0 -
6130 | tTEVIREEAIESR | T 5 1 1 2 8 2 100%
T011 | TREEFRER A B TRA| 1 1 15 14 29 9 9 31%
T012 | TREETRER 2 RHETM| 4 1 8 10 18 5 5 28%
7020 TR 6 1 38 0 38 22 22 58%
7030 WA HS Rl 21 1 0 10 0 10 10 5 50%
7040 ERPRASEEE 2 5 4 1 0 1 10 0 0%
7050 LTS e 2, 4 4 27 0 27 5 5 19%
8010 N AR A 8 2 1 3 4 5 1 25%
9010 B TREL 3 2 50 0 50 20 20 40%
9020 Hill L2 A 0 0 42 0 42 7 7 17%
A010 REL==FN 0 0 0 0 0 - 0 -
AO11 TEEREE 2 TR 2 1 20 41 61 11 5 8%
A012 R EEA 0 0 27 32 59 11 11 19%
AO13| AR A MEOEEMH 1 0 33 6 39 11 11 28%
B010 A TR 2 13 6 3 0 3 10 3 100%
B020 EARHZE A 3 1 1 0 1 10 1 100%
gt 634 | 277 634 231 | 865| 587 277 44%




